
Footrest Support Assembly
H93E - Black, Chrome, and  Color 



Footrest Support Assembly
H93E - Black, Chrome, and  Color 

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

7930360-NLA NLA - Package, Screw, Phillips Pan Head (#10-32 x
11/16")

25 11
7930359-NLA NLA - Package, Screw, Phillips Pan Head (#10-32 x

1/2")
25 12

67005X000 Rivnut (#10-32) 1 13
1008935 Spring, Release - Right 1 14
1008936 Spring, Release - Left 1 14

47565X057 Bushing (7/32 x 3/8 x 11/32") 1 15
7930365-NLA NLA - Locknut (#10-32) 25 16

1035539 Handle, Release, Black - Right 1 17
1035540 Handle, Release, Black - Left 1 17

11232X009 Bolt, Lug  (5/16-24 x 1-3/8") 1 18
1107321 Nut, Low Cap (5/16"-24) 1 19
1022874 Bumper 1 110
1030979 Screw, Phillips Pan Head Tap (#10-32 x 3/4") 1 111
1027095 Plug Button, Black (7/8") 1 212

15680X012 Collar, Anti-Rattle (7/8") 1 113
1006490 Tip, Plastic, Black 1 114 B

1037856-NLA NLA - Tube, Footrest Support, Hemi, Black - Right 1 115
1037857-NLA NLA - Tube, Footrest Support, Hemi, Black - Left 1 115
1035144-NLA NLA - Tube, Footrest  Support, Hemi, Chrome -

Right
1 115

1035145-NLA NLA - Tube, Footrest  Support, Hemi, Chrome - Left 1 115
8881037860-NL

A
NLA - Tube, Footrest Support, Hemi, Color - Right 1 115 A

8881037861-NL
A

NLA - Tube, Footrest Support, Hemi, Color - Left 1 115 A
1037858-NLA NLA - Footrest Support Assembly, Hemi, Black -

Right
1 116 C

1037859-NLA NLA - Footrest Support Assembly, Hemi, Black -
Left

1 116 C
1035525-NLA NLA - Footrest Support Assembly, Hemi, Chrome -

Right
1 116 C

1035524-NLA NLA - Footrest Support Assembly, Hemi, Chrome -
Left

1 116 C
8881037862-NL

A
NLA - Footrest Support Assembly, Hemi, Color -
Right

1 116 A,C
8881037863-NL

A
NLA - Footrest Support Assembly, Hemi, Color -
Left

1 116 A,C
See Chart Pivot Slide Tubes with Aluminum Footplates -- --D

A - Specify frame color when ordering, see Frame Finishes, Touch-Up Paints, Upholstery Options and Accent Packages 
page.  

B - Before 10/1/00 only  
C - Assembly includes Release Handle, Tip, Bolt, and Locknut.  
D - Not Shown  

NOTE:

 



Footrest Support Assembly
H93E - Black, Chrome, and  Color 

Pivot Slide Tubes with Aluminum Footplates

Description Size Right Left
1028906-NLA1028905-NLA

 (16" - 24")
Adult and Narrow Adult 

and Large Adult
Rubber Edged Plate) See Note(s) A

1033507-NLA1033506-NLA(14" - 15")Slim Narrow (Plain
Aluminum Plate)

A - Front Riggings built before 12/93 had footplates with a flat black finish.  After 11/93 the finish is "Wrinkle Black." For Front
Riggings before 12/93, order in pairs to match. 

NOTE:


